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PART A: Grammar and Vocabulary B

Directions: Choose the word or phrase (1), (2), (3), or (4) that ﬁés_fcbmjy!étes
each sentence. Then mark the correct choice on your answer sheet.

41- Before I read this book, I =-eesmvsue-nx dreams were of.s0 much significance.
1) don’t think  2) haven’t thought 3) didn’tthink, | © 4) wouldn’t thought
. you have lost your job becauseof a factory closure, can you understand how
devastating it is? 4+-+9% 7%
1) As if 2) Now that _ . 3)Evenif 4) As though
43-  July 23" is the last date -s--“--=-- you may transfer to another course.
1) why 2)at when = 3) what 4) on which
T Manchester United soccer team will be promoted depends on the last match of
the season.
1)Who 2) Which 3) Where 4) Whether

45+, The police were investigating who --------- the gate to the factory open the night before
‘the robbery.

1) was left 2) had left 3) has left 4) will be left
46-  Our only -------:---- is to reduce debt by cutting costs.
1) variance 2) starvation 3) objective 4) preface
47-  She decided to walk out of the shop without buying anything as the two shop assistants
just talked and ------------ her completely.
1) ignored 2) approved 3) relieved 4) distinguished

48- The stranger said to the villagers that he was a carpenter from New York, but after he
was arrested, it turned out that he had ------------ the whole story.
1) overtaken 2) fabricated 3) instructed 4) demonstrated

49-  Although the bank robber’s career lasted only a little more than a year, he became ==-----
nationwide for being the country’s most wanted criminal.
1) acclaimed 2) accused 3) notorious 4) indispensabie

50- After being left at an orphanage, she was sent to Beijing, where she was =------n--e-- by a
Chinese couple.
1) adopted 2) evolved 3) flourished 4) nominated
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PART B: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing
the best choice (1), (2), (3), or (4).Then mark the correct choice on your
answer sheet.

PASSAGE 1:

According to the United Nations sources, world population in mid-2009 was, 6,290
million, an increase of 90 million in one year. More than half of the total live in Asia (56,9 per
cent). Different countries are at different stages in a demographic transition from the stability
provided by a combination of high birth rate and high death rate to that provided by a
combination of low birth rate and low death rate. Their recent population history and current
trend of growth, the age-structure of their population, and consequently their population
potential for the near future are all widely different. Most rapid growth is in Africa withiratess
of over 3 per cent in some countries. In most European countries the rate is 1ess than p | per
cent. -

It is pointed out in the passage that, of the continents of the world, it is e,

51-
1) Asia that accommodates the largest proportion of the world’s p0pulat10n
2) Asia where population stability has been achieved most racently
3) Africa where the population growth has stabilized over recent decades
4) Europe that hopes to see an increase in_itsjpopulation”
52- According to the passage, the demographic trend observed in various countries ----------,
1) is towards a stability with low birth and Tow death rates
2) involves high birth and.Jow death rates
3) is pointing to a commued state of population mbtab]lny
~ 4) will be reyersed in the near future
53- The author points out that there is little uniformity ----------
.« 1) inythe current pattern of the demographic transition of the various countries of the world
4.1 '2) of population growth among African countries
" 3) in the way birth rates are being controlled among rural and urban populations
4) as regards population figures in Europe
54- The word “transition” in line 3 is closest in meaning to ---===sssa=-- .
1) congruence  2) passage 3) increase 4) census
55- The word “that” in line 4 refers to ------------ ?
1) combination 2) birth rate 3) death rate 4) stability
PASSAGE 2:

People have been donating blood since the early twentieth century to help accident victims
and patients undergoing surgical procedures. Usually a pint of whole blood is donated, and it
is then divided into platelets, white blood cells, and red blood cells. People can donate blood
(for red blood cells) about once every two months.

Transfusing the blood from the donor to the recipient is straightforward. It involves taking
the blood from a donor’s arm vein by means of a hypodermic syringe. The blood flows
through a plastic tube to a collection bag or bottle that contains sodium citrate, which prevents
the blood from clotting.

When the blood is given to a patient, a plastic tube and hypodermic needle are connected to
the recipient’s arm. The blood flows down from the container by gravity. This is a slow
process and may last as long as 2 hours to complete the infusion of blood into the recipient.
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The patient is protected from being infected during the transfusion. Only sterile containers,
tubing, and needles are used, and this helps ensure that transfused or stored blood is not
exposed to disease causing bacteria.

Negative reactions to transfusions are not unusual. The recipient may suffer an allergic
reaction or be sensitive to donor leukocytes. Some may suffer from an undetected red-cell t
incompatibility. Unexplained reactions are also fairly common. Although they are rare, other
canses of such negative reactions include contaminated blood, air bubbles in the blood,
overloading of the circulatory system through administration of excess blood, or sensitivity to
donor plasma or platelets.

Today, hospitals and blood banks go to great lengths to screen all blood donors and their
blood. All donated blood is routinely and rigorously tested for diseases, such as HIV (which
causes AIDS), hepatitis B, and syphilis. When the recipient is a newborn or an infant, the
blood is usually irradiated to eliminate harmful elements. Donated blood is washed, and the
white blood cells and platelets removed. Storing the blood sometimes requires a freezing
process. To freeze the red blood cells, a glycerol solution is added. To unfreeze, the glycerolis
removed. The ability to store blood for long periods has been a boon to human health.

56- Which of the following words is closest in meaning to the word “donating” (line 1)?°

1) Distributing 2) Taking 3) Adorning 4) G1vmg
57-  According to the passage, how often can people donate blood for red 'blood "cells?
1) Every two months 2) Every three months  3) Every.four months 4) Every month
58- All of the following are mentioned as potential negaﬁve reactions to transfusions
EXCEPT ----enevus-- ;
1) sensitivity to donor leukocytes _2)-_ra_c_i-c’é_]]_ mt:Ompat:blhty
3) air bubbles in the blood 4 allergies
59- What answer choice is closest il meaning to the word “undetected” (line 16)?
1) Not illustrated <, .~ (2) Not.wanted 3) Not captured 4) Not found

60- Based on the information.in the passage, what can be inferred about blood transfused to
infants and newhorns?
1) Itisas ngorously tested as blood for adults. ~ 2) It is treated with radiant energy.
3) It is not treated differently from adults, 4) It is not dangerous for children.
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76-

77- " According to the passage, what is the most important step in using a computer?

78-

79-
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ReinComprehension: |

Directions: Read the following passages and choose the best choice (1), (2), (3), or
|(4). Then mark it on your answer sheet. -

Passage I:

Computers are designed to solve automatically problems that have been properly
formulated. The most important prerequisite in using a computer is that the problems or
work to be processed be clearly organized and well defined. A procedure for problem
solving or data processing must always be stipulated.

Data to be processed and instructions for processing it are presented to the computer
through its input devices, which convert the language of the instructions into electrical
signals. The computer memory receives these signals from the input section. The control
section activates the portions of the storage memory that contain instructions or data

pertinent to the current problem. It then controls the flow of data and instructions between.

the memory and the arithmetic-and-logic section by opening and closing the proper

electronic gates. The actions of the control center are guided at every step by the detailed

programs that are stored in the memory banks and that are activated step by step: by the.

control center. When the computer has processed a problem, the signals representing the
solution are channeled to the output section, where they usually are printed inreadable form
or are recorded on magnetic tape. Any other information in the computer.¢an also be printed
if the operator or the programmed instructions order it. For'example; the computer may be
ordered to print a record of the steps it has followed in mlving the problem if an error in the
procedure is suspected.

To ensure the high accuracy requlred of camputmg machmes built-in and programmed
methods of checking are placed in the input-and output devices as well as in the processing
unit. The codes used witpm"the'.maéhiﬁe also contain self-checking elements; and duplicate
circuits, recalculations, and other self-checking techniques are standard practices.

The passage is mainly about ---------- .
1) how ecomputers are designed 2) input and output devices
¢ 3) how to use as computer 4) the operation of computers

1) Presenting instructions for data processing to the computer
2) Defining and organizing problems

3) Changing the language of instructions into electrical signals
4) Processing problems

The word “it” in line 9 refers to ----------, .
1) storage memory 2) problem 3) control section 4) data
According to the passage, the accuracy of computers is achieved by ==s=se==- "

1) changing the self-checking techniques within the computes
2) using electrical signals as the language of instructions

3) placing self-checking elements within the computers

4) programming input and output sections
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80- Which of the following statements is NOT true according to the passage?

1) After processing a problem, the computer sends information about the solution to the output
section,

2) No information about the procedure for solving prablems is available within the computer,

3) Electronic signals representing the problems are sent to the memory by the input section.
4) Information about problems is stored in memory banks.

Passage II:

Computers were developed in the late 1940’s, and since then they have had more impact
on civilization than any invention since the development of the internal-combustion engine.
Almost every modern activity involves the use of a computer, and it is certain that the use of
computers will become even more widespread, pdrtlcularly in the fields of information
processing such as education and medicine.

Computers—especially digital computers—have had their most profound influence on '
science, business, and industry. Scientific and mathematical research have been vastly
accelerated by the use of computers; in business, management practices have been
revolutionized by computer methods; and in industry, computers play the vital role of
control in automation. Aside from computations made possible by modern digital computers,
computers have proved matchless as repositories and correlators of the massive amounts of; A
data generated by a increasing economy and a more complex society. 3.

The number of digital computers in worldwide use increased from less than/15 in- 1950 to
over 40,000 in the late 1960’s with over 100,000 predicted for the 1970’s, Together-with an
increase in numbers has come an increase in the speed capablitlites®f individual computes.

Computers of the late 1960’s operated at internal speeds about20 to 100 times the speeds of
their counterparts of 10 years earlier. In addition, the storage capabilities increased eightfold,
yet occupied half the former volume. .

81- What does the passage mainly dlscuss" 9,

1) The uses of computers in %menoe 2 2) How computers operate

3) Inventions in the 20" ceatury 4) The development of computers
82- According to the passage, the qtorage capabilities of computers ---------,

1) limit the intétal speeds of individual computers

2) have not increased during the past 10 years

3)ill the whole amount of space in a computer _ :

4).are eight times greater than before -
83- Which of the following statements is NOT true about computers?

1) Large amounts of data can be stored in modern computers.

2) They have increased in number and in speed capabilities.

3) The widespread use of computers has caused problems for businesses.

4) They have greatly influenced human life.
84-The word “profound” in line 6 can best be replaced by ----<---- 2

1) strong 2) special 3) fast 4) direct
85- What is the writer’s attitude toward computers?

1) Positive 2) Ridiculous - 3) Subjective 4) Unfavorable
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10 dxio .

void main()

{

for(int n=0,s=0;n<=5;n+=2,s+=n)

cout<<s;

}

void main()
{
int c1=0,¢2=0,c3=0,c4=0;
char ¢;
while((c=cin.get())!=EOF)
{ switch(tolower(c)) -
{ case 'f':++el;

case "a':++c2;

case 'r':++c3;

case 'd':++cd; } }
cout<<cl<<e2<<c3d<<c4;

} =

void main()

{

int ¢=0;
cout<<c=f<<','<<c==0;

}

void main()

{ k

enum flower {violet=1,linda,mina};

flower f;.

violet=d4; "\ "//1
linda=2; 2
=3; 113
cout<<f==mina; //4
cout<<violet; //5

}

void main()

{

register a;

int b; static int c;
for(a=-32000;a<32000;a++);

H

void main()

{

int x=3,*%y;
int&y; /1
&y=x; 12
y=&x; /3
*y=3; /14
}
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int box(int I=1,int w=2,int h=3) ez

ERROR ¢
{ return I*w*h; } 6603001000 (¥
void main() 6606006000 (v
{ 1101001000 (f
cout<<box();
cout<<box(10);
cout<<box(10,10);
cout<<box(10,10,10);
}

Yol plas’ g5 ‘..\J,..:JCUmment siwe ERROR whls a8 ol L s Slagydg; gaaliy o

s 5444
int add(int x,int y){ return x+y; } 54.54.55 (¥
float add(int x,float y){ return x+y; } 5556 -
float add(float x,int y){ return x+y; }

float add(float x,float y){ return x+y; }
void main() -

{

cout<<add(2,3)<<add(2,2.5);
cout<<add(2.5,2)<<add(2.5,2.5);
}

void main() Tl plaS (2955 09y 41 3) 54ebiy 5o

{ 23 LY ()
int a[2][3]={{1,2},{4}}s oS G F (Y
for(int i=0;i<2;i++) oae 5 # (Y
for (int j=0;)<3;j++) G F (e

cont<<a[ijj<<"";

Fiuns] s 33 oS plAS 155409, gaoli 50
void main()

L 21h
{ 4,6,7
int y,*yptl"; 1,2,5¢
ypt=&y; /1 3 7t

cin>>*yptr; /72
cin>>&ptr; //3
cin>>yptr; //4
cout>>yptr; //5
cout>>*yptr; //6
cout>>&yptr; /7
}
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struct Time { i

int hh,mm,ss; 0

Time day; }; ; 1

void main() S 2¢(f

{ 5

Time t1,62[10],*t3,&t4;

)

class Time{ Sul plaS (29,5 19509y (aeliyp o -NIY
public:

Time(); 0:0:0 0

void setTime(int,int,int); 10:20:20 (v

void printTime(); 9:10:40 (v, _ 1
/l ~Time(); /11 8:30:20 (F4
private: .

int hh,mm,ss;

I hh'mm=ss=0; 112

Time:: Time() {hh=8;mm=30;5s=20;} (R S !

void Time::setTime(int h,int m,int s)
{h=9;m=10;5=40;}

void Time::printTime() :
{ cout<<hh<<':'<<mm<<": '<<ss= }

"_f ey

void main()
{
Time t; <1
t.setTime(10, 20,20),
2 prinﬂ‘:meO,
] Canwy plaS (39 z 515 Comment cdl> 511 s 51 MY Jlgaw gaolip 0 -1
AP oLﬁ;)i sl asl saiiSagl (¥ w2 e 7, Uas ()
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